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1.

PART—I

( GENERAL STUDIES )

10 years ago the ratio of ages
of Ramesh and Rajeev was 1 : 3.
S years hence this ratio will
become 2 : 3. What is the ratio
of their ages at present?

A) 2:5
B) 3:5
€ 1:2

(D) More than one of the above

(E) None of the above

If I walk with a speed of 5 km
per hour from my house to the
station, my train would have left
the station 7 minutes before my
arrival. But, if I walk with a
speed of 6 km per hour, I will
reach the station S5 minutes
before the departure of my
train. Accordingly, what is the
distance between my house and
the station?

(A) 7 km
(B) 65 km
(C) 6 km

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/11-A

3. The average monthly income of

P and Q is ¥ 5,050. The average
monthly income of Q and R is
¥6,250 and the average
monthly income of P and R is
¥ 5,200. The monthly income of
P is

(A) ¥ 3,500
(B) ¥ 4,050
(C) ¥ 4,000

(D) More than one of the above
(E) None of the above

If 30% of P is added to 40%
of Q, it becomes 80% of O.
Accordingly, @ what is the
percentage of Q with respect
to P?

(A) 40%
(B) 50%
(C) 75%

(D) More than one of the above
(E) None of the above

A sum of money is to be
distributed among A, B, C, D in
the proportion of 5:2:4:3. If
C gets ¥ 1,000 more than D,
what is B’s share?

(A) ¥ 500
(B) ¥ 1,500
(C) ¥ 2,000

(D) More than one of the above
(E) None of the above



1.

PART—I

( GENERAL STUDIES )

10 o @ W wd TS H A H
a1 : 3 A " W 5 A 9y Te
YU 2 : 3 B SR FAHE H 3R

1Y T U FT 27

A) 2:5

B) 3:5

C) 1:2

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

Ife § 3194 ;A 5 foho o ufd =rer Y
T & XM % T Fearn g, ar vl me
T WY TEEE ¥ 7 e wew g2 g
At 21 g afe & 6 fRo o ufa =i
1 Tfd ¥ =eran g, a1 § WIE WML h
T ¥ 5 e wed wgw S %)
TaEgER, W R VIE o o= A gl
ERI A

(A) 7 o o

(B) 65 Teho Hio

(C) 6 feho Hio

(D) 30w W | TH § AfUh
(E) 3udth § & #1$ T
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3. P 3R Q FHi fua wiew A=

¥ 5,050 g1 Q 3R R & faa Arfee
g € 6,250 8 9AT P 3R R i 30wd
mifees 3 € 5,200 B P il AIiEeE
I 2

(A) ¥ 3,500

(B) ¥ 4,050

(C) ¥ 4,000

(D) 30w W | TH ¥ Afh
(E) 3w & & 18 7t

. TG P &1 30%, Q % 40% ¥ e fean

S, d 98 Q H 80% T ST B
TEIHR Q, P o1 foha wferra 27

(A) 40%

(B) 50%

(C) 75%

(D) 30w W | TH § AfUh
(E) 39 d § =I5 T

. A B C,D&dH5:2:4:3%

3T & o 1 T o 5 21 afe
C %I D& T 1,000 ftre fieta 8, @1
B = fewdn = 27

(A) ¥ 500

(B) ¥ 1,500

(C) ¥ 2,000

(D) 39 U | UH A Afh
(E) 3% 4 4 5 7
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6. A shopkeeper gives a discount
of 5% on the selling price of a
watch. If he gives a discount of
6%, he will earn a profit which
is ¥ 15 less than the before.
Accordingly, what is the marked
selling price of that watch?

(A) ¥ 1,400
(B) ¥ 1,500
(C) ¥ 1,800

(D) More than one of the above

(E) None of the above

7. Three numbers are in the ratio
3 :4:5. The total of the largest
and the smallest numbers is
equal to the other number
plus 52. Accordingly, which is

the smallest number?
(A) 27
(B) 39
(C) 52
(D) More than one of the above
(E) None of the above
8. If22n1= el then the value
of n is
(A) 3
(B) 2
€ -2

(D) More than one of the above

(E) None of the above
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9. Which of the following photo-
electric devices is the most
suitable for digital applications?

(A) Photo-voltaic cell
(B) Photo-emissive cell
(C) Photo-diode
(D) More than one of the above
(E) None of the above

10. The critical mass of a fissionable
material is
(A) one kilogram equivalent
(B) the minimum mass needed

for chain reaction
(C) the rest mass equivalent to
1010 joules

(D) More than one of the above
(E) None of the above

11. Which of the following gases is
used to force the ripening of
fruits?
(A) Ethane
(B) Ethylene
(C) Methylene
(D) More than one of the above
(E) None of the above

12. Which one of the following has
zero octane number?
(A) Iso-octane
(B) Neo-octane
(C) n-octane
(D) More than one of the above
(E) None of the above
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6. T% GHMER UH HEl d=d 99d forshl 4o

W 5% T2 @ 2l AT T/ W W 6%
FeIqa e, a1 W U ° T 15 FH H
A TR | degEr, 39 HSl 1 3fohd
fersht T = 27

(A) ¥ 1,400

(B) € 1,500

(C) ¥ 1,800

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

. @9 w=d 3:4:5 % gdd H gl
ITH a9 JE Ud gl DI TEATRA I
AT, A @A qAT 52 % AN o TR
3| TEIUR, ol B GEAT HA-HT 27
(A) 27

(B) 39

(C) 52

(D) 3w U | TH A Al

(E) 3T | ¥ *18 e

8. aﬁ22n_1:8nl_3,?ﬁnaﬂm%

(A) 3

B) 2

(C) -2

(D) 39w | ¥ TH ¥ M
(E) 3udth # ¥ #1$ T
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9. fmfafgd & ¥ &HH-A1 ®RI-TGEH

10.

11.

12.

Iy fefved gy & fou de
I &7

(A) ®RI-Ffees o

(B) WIeI-3cEsieh U

(C) WIRI-SriTe

(D) 39w W | TH § AfUh

(E) 3 § & 1S T

Trelt Tor@ S 39 w1 Wi FeaH

=l

(A) T Tt wnged

(B) et aifufshan v Tawash =aw
ESbit]

(C) 10! et % wAged form FomH

(D) 39w H ¥ TH ¥ 1M

(E) 3udth # @ 1$ T

el ol STeRaEdt qeh o forg frefatea
o @ form g 1 3T foRern A 27
() 3

(B) uferet

(C) uforef=

(D) 30w U | TH § Al

(E) 3udth # & 1S T

frafafeaa & @ ot stfaa @@
T 87

(A)  3HTEEI-STFA

(B) faefi-ataeq

(C) n-3ATFA

(D) 39w | ¥ UH ¥ 1M

(E) 3udth § & #1g T
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13.

14.

15.

16.

The edible part of Litchis is
(A) aril

(B) thalamus

(C) seed coat

(D) More than one of the above

(E) None of the above

The physical process involved in
the release of molecular oxygen
from leaves is

(A) diffusion

(B) transpiration

(C) osmosis

(D) More than one of the above

(E) None of the above

The process of finding the
relative location of genes on a
chromosome is called

(A) genome walking

(B) chromosome walking

(C) gene mapping

(D) More than one of the above

(E) None of the above

Spore mother cell in bryophytes
is

(A) haploid
(B) diploid
(C) triploid

(D) More than one of the above

(E) None of the above
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17.

18.

19.

20.

In which year was NGT (National
Green Tribunal) for protection
of environment and forest
established by the Government
of India?

(A) 2010
(B) 2011
(C) 2012

(D) More than one of the above
(E) None of the above

Which city of India started first
under-water metro?

(A) Kochi

(B) Visakhapatnam

(C) Bengaluru

(D) More than one of the above
(E) None of the above

Under India’s G20 Presidency,
where was the Tourism Working
Group Meeting held?

(A) Patna (Bihar)
(B) Srinagar

Kashmir)
(C) Ramnagar (Uttarakhand)
(D) More than one of the above
(E) None of the above

(Jammu and

Who among the following got
the Silver Medal in the National
Under-17 Girls Wrestling
Championship?

(A) Liza Tomar

(B) Nirjala

(C) Pushpa Yadav

(D) More than one of the above
(E) None of the above



13.

14.

15.

16.

of=ht = @ T R

(A) i

(B) em|

(C) i< =i

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

ruiferes ATRdfiS ST Ot | faeRer
-4t ofifos foram 27

(A) oo

(B) aTSHIcEs

(C) R

(D) 3w U | TH § Afh

(E) 3udeh # & 1S 7

foredt o W SfET Gt et feafa
T A Y TR FEed B

(A) S 1 T

(B) O =T <A

(C) SiF Tt

(D) 39w H ¥ UH ¥ M
(E) 3udth # & #1$ T

STEEIEE o SfIST] |G IR Bl B
(A) T

(B) femfora

(C) Ffora

(D) 39w | ¥ UH ¥ M+

(E) 3udth § @ #1$ T
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17.

18.

19.

20.

T TRR R Jfar0r 7R a9 <t graf
# fau frm ad NGT (fema o=
o) <t T 1 TS oft?

(A) 2010

(B) 2011

(C) 2012

(D) 39w | ¥ TH ¥ M=

(E) 3w & @ 18 7t

Id & fFe T 3 9o TR U %
= At i yEeTTa HrY

() ==

(B) feremardmm

(C) STege

(D) 39w | ¥ UH ¥ M+

(E) 3w @ 4 g T

IRA G20 FeAFA H e FrREg
! 93 el g3 i

() e (forer)

(B) #FT (S 3R F7Hi)

(C) TR (IHTEE)

(D) 39Y® | ¥ TH ¥ M

(E) 3w | § Hig Tl

T ° frm wiE eAeR-17 anforeR
Fct SrfafT § §d gee T fRer?
(A) s AR

(B) fste

(C) g Ared

(D) 39w | ¥ UH ¥ M+

(E) 394 # & hrg 7

7 T e.r.o.



21. Who won the International 25. Match List-I with List-II :
Booker Prize, 2022 for the novel,

Tomb of Sand? List—I List—II

(A) Geetanjali Shree and Daisy a. Char 1. Punjab plain
Rockwell

(B) David Diop and Anna b. Kankar 2. Delta
Moschovakis c. Kayal 3. Bangar

(C) Marilyn Booth and Jokha
Alharthi d. Mand 4. Coastal plain

(D) More than one of the above

(E) None of the above Select the correct answer using

the codes given below.

22. Who was the Chief Guest on &) a b c d
India’s 74th Republic Day? 1 4 2 3

(A) Mohammed bin Salman
(B) Abdel Fattah EI-Sisi B) a b ¢

(C) Sheikh Mohammed bin
Rashid Al Maktoum

(D) More than one of the above ) a b ¢ d
(E) None of the above 3 4 2

N
w
N
—

[a—Y

D) M th f the ab
23. In which district of Bihar, the (D) ore than ohie of the above

first floating solar power plant
has been built?

(A) Darbhanga

(B) West Champaran

(C) Madhubani

(D) More than one of the above
(E) None of the above

(E) None of the above

26. Which of the following
tributaries does not join
Brahmaputra river from north?

(A) Subansiri
24. Which of the following has got
GI Tag in Bihar? (B) Belsiri
(A) Maghai Paan
(B) Basmati Rice
(C) Chanderi Saree
(D) More than one of the above
(E) None of the above (E) None of the above

(C) Manas

(D) More than one of the above
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21. UM 7 3 G % folU FRigE 25. -1 F -1 & gafaa i
TR G, 2022 Tore sfiar?

(A) T of i S T Tz -
(B) =fug feam iR om=n Arepiantsa a. =R 1. oo 1 Hed
(C) Hfe g1 R S steareff b A
(D) 39w | ¥ UH ¥ M+
(E) 30w § & i c. &EA 3. amm
d. we 4. @ Tem
22. 9RA % 749 A faw W wE g
s 47 = fow T g oM W Al IW
(A) e o Jomm ﬂﬁ"ﬂ
(B) Todd %ag e -Tot
(C) @ Higme fot Tl a1t weham (A) ? Z ; g
(D) 39w | ¥ TH ¥ M
‘ : B) a b c
(B) 37w 5 & s 7 2 3 4 1
23. fogr & form foer § wow o g3 e € a b ¢ d
Sl GI SR T R Y 3 1 4 2
(A) = (D) I & ¥ TF § e
" Sl H @ i
E
©) g ")
(D) 39y H ¥ TH ¥ M
(E) 3 # & g e 26. frfafad & ¥ FA-@ wEEE @
FEgA ¥ I fown & T frerdt 27
24, foer # f=fafas @ @ fR GI 2w
forem 27 (A) g
(A) TTE A (B) seAfet
(B) <EHd =TEd (©) W
(C) =it @t ‘
(D) 30w W | TH § Afeh (D) 3T & 7% § wifers
(E) 3w & & 15 T (E) 393 & & g T
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27. Likhapani glacier is located in

28.

29.

which State of India?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) More than one of the above

(E) None of the above

Magadha and Anga plains are
parts of

(A) upper Ganga plain

(B) middle Ganga plain

(C) lower Ganga plain

(D) More than one of the above

(E) None of the above

Which of the following pairs of
waterfalls and rivers is not
correctly matched?

(A) Jog—Sharavati

(B) Kapildhara—Kaveri

(C) Dhuandhar—Godavari

(D) More than one of the above

(E) None of the above

17/MV/M-2023-01-10 (S)/11-A

30. Arrange the following seaports of

India from north to south :
1. Kakinada

2. Machilipatnam

3. Nagapattinam

4. Visakhapatnam

Select the correct answer using
the codes given below.

A 1,2, 3,4
B) 4,1,2,3
< 1,3,2,4

(D) More than one of the above

(E) None of the above

31. The Agreement of Kosi Irrigation
and Hydroelectricity Plan in
1954 was signed between which
two countries?

(A) India and Bangladesh

(B) India and China

(C) India and Nepal

(D) More than one of the above
(E) None of the above

32. In which climatic division does
Bihar fall as per R. L. Singh’s
classification scheme?

(A) Humid south-east
(B) Subhumid transitional
(C) Subhumid continental
(D) More than one of the above
(E) None of the above
10 [l RN R RO AR



27. TEmH faae yra & fefatas @ @

28.

29.

fora T=a 4 feora 77

(A) TR 3T

(B) Tenreret e

(C) fufem

(D) 39Y® | ¥ TH ¥ M
(E) 3w & & 18 7t

Y TS S 1 HeH e fee 87
(A) T T H B

(B) TeF T H1 B

(C) =t 7 =1 Bem

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

SAYaTd 3T et o fefefaa sl 8 9
HH-|1 ST el gufera A&t a7

(A)  STT—Irerdt

(B) HiUCTERI—ahIadt

(C) YATaR—eEadt

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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30. wid & f=fafiaa seumE = I 4

31.

32.

afequr faem ® afeda il
1. RS

2. HSAIEH

3. Ammfgm

4, foemETTE

f= fau MU Fe W oW W A IW
|

A) 1,2, 3,4

(B) 4,1, 2,3

C 1, 3,2, 4

(D) 39w | ¥ TH ¥ 1M

(E) 39t # & 1g T

1954 & foF 3t auit % oftm wreft fmrg
TH Sefored, IRESET T geatd

IR

(A) TR TR TFATSIT
(B) wRaay iR ==

(C) 9Raay 3R Juret

(D) 39w | ¥ UH ¥ M+
(E) 394 H ¥ HI3 T

Ao Tdlo ﬁTS' & offeRtor whg
AR, foEr fFe TR o Saarg wew
T T 87

(A) =18 sferor-gd

(B) 39T THHUTRICAH

(C) 3uTE weTgd

(D) 39y | ¥ TH ¥ M
(E) 39tk # & 1$ T

a1 IR e.r.o.



33. In which Session of the Indian 37. Which portfolio did Dr. Rajendra
National Congress was the Prasad hold during the Interim
resolution of ‘Purna Swaraj’ Government of 19467?
adopted? (A) Defence
(A) Kanpur Session, 1925 (B) Home
(B) Lahor;Sessi(‘)n, 1929 (C) Food and Agriculture
(g) ;(/Iaracthl Sess1on1: tligs{b (D) More than one of the above
:E)) Nc‘)’;ee Ofa?hzn:bive ©above (E) None of the above

38. Wh th followi

34. What was an initial objective of o amons © OLOWINE
. , . ) particularly urged Gandhiji to
Kuka Movement’ in Punjab? visit Champaran to witness the
(A) To purify the Sikh religion miseries of the Ryots?

(B) ’;o ga]ijn political power in (A) Brijkishore Prasad
unja
@ (B) Rajkumar Shukla
(C) Organization of peasant
movement (C) Sukhram Ganesh
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

35. Who described the Revolt of 39. The Day of Deliverance’ was
1857 as the ‘First Indian War of observed by the Muslim League
Independence’? on which date?

(A) V. D. Savarkar (A) 22nd December, 1939

(B) Bal Gangadhar Tilak (B) 17th October, 1939

(C) Bipin Chandra Pal (C) 22nd December, 1940

(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

36. Where was the first instance of 40. Who laid the foundation stone
organTzed non—cqoperatlon m of National College and Bihar
;h?dzustory of Indian peasantry Vidyapeeth?

eld? .
(A) Bihar and Bengal (A) Dr. Rajendra Prasad
(B) Madras Presidency (B) Maulana Abdul ]?an
(C) Punjab Province (C) Mahatma Gandhi
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
17/MV/M-2023-01-10 (S)/11-A 12 [ AR R RO AR



33.

34.

35.

36.

IR T wOE % e eriewE d
qul TSt 1 T R g3 o

(A) FHE AfrewHE, 1925

(B) <R AfrawM, 1929

(C) =t @M, 1931

(D) 39Y® | ¥ TH ¥ M

(E) Sudth # & #1$ T

USTTE H ekl STl Rl TR 32w
eI

(A) @ g =t aftepd wE

(B) USTE H TSHIfeh Ik UTH AT
(C) TFH =T HT TS

(D) 39w | ¥ TH ¥ M

(E) 3udth # & #1$ T

1857 % fusie = fruss 3@ ‘wem
IR Tadaar @um’ % &9 gfid
o T e?

(A) o Elo AT

(B) et TR feretsh

(C) faftm ==z urat

(D) 39w H ¥ UH ¥ M

(E) 3udth # & 1S T

g ot % sfoem # @fea
STHEANT 1 T 3T el Hfed gl
oaT?

(A) forer 3 sme

(B) w5 SEfeE

(C) uSITa ifa=d

(D) 3wtk & & T @ enferen

(E) 3udth # & #1$ T
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37.

38.

39.

40.

¥ 1946 # I I<fH WeR H
fo TS5 YHE o UE hiH-dT faam
o7

(A) T

(B) T®

(C) T wd FY

(D) 39w | ¥ UH ¥ M+

(E) 3w & 9 18 T

Tiefisht =t faei €0 @ TR0 3 3R
TET % Fehi hl g fefa =it 3@ g
R a1 fomam on?

(A) PRI S

(B) USIHHT IFc

(C) Gt Torer

(D) 39w | ¥ TH ¥ M

(E) 3udth # @ 1$ T

yfeem o gr frw fafa 0 ‘gfe R
AT T ATY

(A) 22 fearr, 1939
(B) 17 3TN, 1939
(C) 22 feawr, 1940
(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T

WEA s 3R TR fommdis ==
o= fre foma en?

(A) Efo TSIE TETE

(B) HIGTHT 3155 aIRY

(C) W et

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & 1$ T

13 [N e.r.o.



41.

42,

43.

PART—II
( MATHEMATICS )

During conversion of a solid
from one shape to another, the
volume of the solid will

(A) decrease

(B) remain unaltered

(C) increase

(D) More than one of the above
(E) None of the above

The Cartesian coordinates of
three points A, B and C are
L-1, G -4 and (5 -7
respectively. Then the A ABC is

(A) isosceles

(B) equilateral

(C) right-angled

(D) More than one of the above
(E) None of the above

A sweet seller has 420 Kaju
Burfis and 150 Badam Burfis.
He wants to stack them in such
a way that each stack has the
same number, and they take up
the least area of the tray. The
number of such stacks formed is
A) 17

B) 19

(C) 18

(D) More than one of the above
(E) None of the above

17 /MV/M-2023-09 MAT (S)/11-A

44. Let

45.

x+2y+4=0 and
—4x+2y -3 =0 be the equations
of two straight lines. Then

(A) they are parallel

(B) both are passing through
the origin

(C) one is passing through the
origin
(D) More than one of the above

(E) None of the above

Pritam and Rana drive around
a circular sports field. Pritam
takes 16 minutes to take one
round while Rana completes the
round in 20 minutes. If both
start from the same point, at the
same time and in the same
direction, after how much time
will they meet at the starting
point?

(A) 80 minutes
(B) 32 minutes
(C) 40 minutes
(D) More than one of the above

(E) None of the above
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42.

43.

PART—II

( MATHEMATICS )

a1, fht 3 B T R ¥ g SR

T e o SIH, 3 T TR
() =

(B) srfEfda wm

(C) =em

(D) 39w | ¥ UH ¥ M
(E) 3w & @ 18 7t

dm fagsti A, B @1 C & @™
oo wmE: (1, 1), (3, —4) dd
(5, -7) %1 99 AABC ®

(A) wHfzaTg

(B) @HeITg

(C) "I

(D) 39w | ¥ UH ¥ M

(E) 3T | ¥ *1E

s e fasedt & 9 420 @ H
aftat 3R 150 srem i okt 21 98
3¢ 39 & ¥ & HET 9edl @ fh T3
T ITh & 99E g, AR 9 2 W
FH-Y-FT &7 W| W YHR sA4 9Tl
<0 H T B

A) 17

(B) 19

(C) 18

(D) 30w W | TH § Afh
(E) Sudth # & #1$ T
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44. T

45.

x+2y+4=0 qaAr
—4x+2y-3=0 T WA Wl *
grfier 2| e

(A) o FHMRE g

(B) @I Hetferg & 2Rt STt ©

(C) T Heiferg & Bt STt B

(D) 39w W | TH § AfUh

(E) 3w & © 18 T

fraw R TON TH MATRR A & B
% IR AR FER A & | ad T Fem
o § 16 e oar & Safe qom
20 fiFe @ @@ 4 w1 21 A M
T & forg 9, T @ 9 W AR T @
oz ® 9@ IE A g, a9 TR
forg W fore w7 e frem?

(A) 80 fie
(B) 32 fime
(C) 40 fire
(D) 39w | ¥ UH ¥ M

(E) 37 | & 18 e
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46. The largest number that divides 49. If the nth term of an arithmetic

450, 577 and 704, leaving progression is (2n+1), then the
remainders 9, 10 and 11 sum of its first three terms is
respectively, is
(B) 577 (B) 15
(C) 450

(C) 12

(D) More than one of the above

(E) None of the above (D) More than one of the above

47. If o, B, y are the zeros of the (E) None of the above
polynomial x3-6x2%-x+ 30,
then the value of off + Py +ya is

A) 1 50. AABC and ADBC are on the
B) -1 same base BC and on the

opposite sides of BC. If O is the
©) 6 intersection  point of the
(D) More than one of the above diagonals AD and BC, then

(E) None of the above
Area of AABC

Area of ADBC

48. If sin6 = E, then the value of
n

tan® + 4 is equal to
4cotB+1
is (A) BO
CcO
m
) ——— i
n“-m A
B) —
" DO
B ——
n“-m
AO
o (©) o
Q) —=—
m*-n

(D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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46.

47.

48.

I8 W S 9, S 450, 577 99
704 @ faviisa 9 W Auwe FHES:
9, 10qu 113 &, ?

(A) 63

(B) 577

(C) 450

(D) 30w W | TH § AfUh
(E) 39t o & I8 7

afe o, B, v ERRES x3-6x%-x+30
%Q‘Eﬂ%‘,ﬁﬁaﬁ+ﬁy+y®caﬂﬂﬂ%

A) 1

B) -1

(C) 6

(D) 39w | ¥ TH ¥ M
(E) 3wt ¥ =rE T

0
af sing =" @, @ 2notd
n 4cotB+1

I+ 2

(A)

(B)

m
m2—n2

(D) 39w | ¥ TH ¥ M
(E) 37 | ¥ 18 e

(€)
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49, =fe gu=R Aol w1 pE 9E 2n+1) B,

50.

Al 38 TE o Ual 1 A B
(A) 6n+3

B) 15

(C) 12

(D) 39w | ¥ TH ¥ M=

(E) 3w § | wrg T2

AABC @1 ADBC &1 38R BC ®
da BC it faudia faemeti & a1 Pig=
21 afe O, i AD dqan BC @i
vfeas fog 2, @

AABC 1 &9%d
ADBC &1 €9%d

EUCIE

a) B9
CO
@) 49
DO
) 49
Cco

(D) 39w | ¥ UH ¥ M

(E) 37 & & 18 e
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51.

52.

Places A and B are 100 km apart
on a highway. One car starts
from A and another from B at
the same time. If the cars travel
in the same direction at different
speeds, they meet in S hours. If
they travel towards each other,
they meet in 1 hour. What are
the speeds of the two cars?

(A) 60 km/hr, 40 km/hr

(B) 30 km/hr, 70 km/hr

(C) 20 km/hr, 80 km/hr

(D) More than one of the above

(E) None of the above

The sum of the squares of two
positive integers is 306. If
the square of the larger integer
is 25 times the smaller integer,
then the difference between the
two integers is

(A) 6
(B) 10
€ 1

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

53.

54.

Consider the following frequency
distribution :

Class Frequency

0-10 3

1020 9

20-30 15

30-40 30

40-50 18

50-60 )

The modal class is

(A) 20-30
(B) 30-40
(C) 40-50

(D) More than one of the above

(E) None of the above

If two diagonals AC and DB of
a quadrilateral ABCD intersect
at a point E such that

AE :EC :1:2 and BE :ED ::3:6
then ABCD is

(A) an arbitrary quadrilateral
(B) a rhombus

(C) a parallelogram

(D) More than one of the above

(E) None of the above

18 IO OO AR neerm



51.

52.

WM A I WH B TH TWHN W
100 foho o g feoa 21 v & v #
T FR A E IR @ B H T IE
@t Bl I wR o @ fewm #@
-3 Tq & el 8, @4 9 5 69
7 et 21 af 3 weh-g@ it 3T Fordt
Fara 1 @A et 31 3w
et 7

(A) 60 o Hio /=21, 40 foRo Hio/

|

(B) 30 feho o /=1, 70 o Hio/

Ul

(C) 20 Tho Hio /=T, 80 fho Hio/

ol
(D) 39w | ¥ TH ¥ M

(E) 3T | ¥ *18

31 g9 qUTieh HEATR o i 1 AR 306

31 Al I qifs wen @ i, s
Ui T H 25 T E, q@ I
e B
(A) 6
(B) 10
(C) 1

(D) 39w | ¥ UH ¥ 1M+

(E) 37 & & 18
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53.

54.

Frefctfaa gt sied W fo=m Fifse
FAEH g
0-10 3
10-20 9
20-30 15
30-40 30
40-50 18
50-60 5

Hied FoE BT

(A) 20-30

(B) 30-40

(C) 40-50

(D) 3 U | TH § Afh
(E) 3w § | g T2

Ife =gds ABCD @ fa&ui AC @en
DB, /g E W 3@ &R Yii=se
#d 8 % AE:EC :1:2 qon
BE :ED ::3:6,d ABCD®

(A) T TG TG
(B) uF wEqdS

(C) T TTR-=g

(D) 39w | ¥ TH ¥ M
(E) 3udth § & #1g T
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55. Find the two numbers such that

56.

the sum of thrice the first and
the second is 142, and four
times the first exceeds the
second by 138.

(A) 42, 20
(B) 32, 40
(C) 40, 22

(D) More than one of the above

(E) None of the above

If the slope of the line joining
the points (k, 4) and (-3, —2) is ;,

then the value of k is

(A) 3
B) -9
(C) 9

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

57. A person on tour has ¥ 4,200 for
his expenses. If he extends his
tour for 3 days, he has to cut
down his daily expenses by ¥ 70.
The original duration of the tour
will be
(A) 14 days
(B) 12 days
(C) 16 days
(D) More than one of the above
(E) None of the above

58. A motorboat, whose speed is
18 km/hr in still water, takes
one hour more to go 24 km
upstream than to return
downstream to the same spot.
The speed of the stream is
(A) -54 km/hr
(B) 6 km/hr
(C) 10 km/hr
(D) More than one of the above
(E) None of the above

59. Find the centre of a circle
passing through the points
6, -6), (3 —7) and (3, 3).

(A) 6 3)
B) B -2
€ @ -3
(D) More than one of the above
(E) None of the above
20 WAL



55. T AN 36 UHR Jd hiee foh ugd

56.

N dF T SR gEd W A 142 7,
3R gt 1 9’ [ gEd §e ¥ 138
e 2|

(A) 42, 20
(B) 32, 40
(C) 40, 22
(D) 39w | ¥ TH ¥ M

(E) 37 & & 18 T

Ifg a1 forgett (k, 4) q (-3, - 2) W
ﬁaﬁmﬁ%@?ﬁwé%,aﬁkw

M 2

(A) 3

(B) -9

(C) 9

(D) 39w | ¥ TH ¥ M

(E) 37 | ¥ 18 e
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57. SR W TU Uk ARk o6 IE 04 G

58.

59.

& faw 4,200 2| 9 a8 17 €1
3 fet & foru s@r gar g, o 39 e
afie @t 0 €70 F FwAdT FAT B
4R 1 et ety gnfi

A) 14 f@

(B) 12 T

(C) 16 f&

(D) 39w W | TH § Afeh
(E) Sudth § & #1$ T

Th HewEe, e R s #@ fa
18 Tho o /e 2, amr it fawdia fewm
H 24 foho o it T T & H, 9w
& foem o 3t oW W Sed B ger |
Th el Afo gEE odt B ew
Tt 2

(A) —54 TRo o /ear
(B) 6 foho Hio /=T

(C) 10 feho Hio /wen

(D) 39w U | TH § Afeh
(E) Sudth § @ #1g T

fogat 6, -6), (3, -7) 3R 3,3 @
B ST AT I 1 oheg Jq RIS |

A) B3

B) B -2

©) 2 -3

(D) 30w W | TH § Afh
(E) 3udth # & 1$ T
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60. Two water taps together can fill

61.

a tank in 92 hours. The tap of

larger diameter takes 10 hours
less than the smaller one to fill
the tank separately. The time
(in hours) in which each tap can
separately fill the
respectively

tank is

(A) 10, 20

(B) 15, 25

(C) 5, 15

(D) More than one of the above

(E) None of the above

In a class test, the sum of
Kamal’s marks in Mathematics
and English is 40. Had he got
3 marks more in Mathematics
and 4 marks less in English, the
product of the marks would
have been 360. The marks
obtained by Kamal in two
subjects separately are

(A) 21, 19
B) 12, 28
(C) 21, 12

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

62. A bag contains 2 red, 3 green
and 2 blue balls. Two balls
are drawn at random. The
probability that none of the balls
drawn is blue is

10
A) -2
A 21
11
B) -
(B) o1
2
Q) =
(€) =
(D) More than one of the above
(E) None of the above

63. A man saved ¢33,000 in
10 months. In each month after
the first, he saved ¥ 100 more
than he did in the preceding
month. How much did he save
in the first month?

(A) ¥2,850
(B) 1,850
(C) 1,900
(D) More than one of the above
(E) None of the above
22 [N RRT O



60. aqm%awwa@éﬁaﬁ9z‘d%

61.

T W Hhd 21 ARG 77, o =
fern B, Zhl I Tl WA | B A
el 7 10 ¥ FHH A 7, dl Tdw
I gRT TH B W TR A A T
(92 ©) 7, A

(A) 10, 20
(B) 15, 25
(©) 5, 15
(D) 3w W | TH § Afh

(E) 37 | ¥ 18

Th FAE & H, HAA & TUE IR
ST § UTH 37t 1 AN 40 21 9fe 3@
i § 3 3tk afes v SmSh A
4 @i %A fHerd, a1 STl w1 TUEw
360 eIl FAA g aEl fowE #
A) 21, 19
(B) 12, 28
(C) 21, 12

(D) 3w U | UH A Al

(E) 37 & & 18 e
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62. TH 9 § 2 &, 3 & aor 2 it i

63.

21 E1 TEl W agftes w1 9 feeen
ST 21 T el § o Rt % oft diem 3
HEEIRIIRETI R

10

A 51

11

(B) o1

2
(€) -

(D) 39w | ¥ UH ¥ M+

(E) 3w & © 18 T

T AEH 4 10 HEW T ¥33,000 H
Tod | TE TSN % o B 9, e
frgat wdm it g 7 €100 2afw

Tad Hl| IET UEd HEH H fRad #
F=d 7

(A) ¥2,850
(B) ¥ 1,850
(C) ¥1,900
(D) 39w | ¥ UH ¥ M

(E) 37 | ¥ 18 e
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64. The area of a square field is
24200 square metres. At the
rate of 66 km/hr, how much
time will a lady take to cross the
field diagonally?

(A)

3 minutes

(B) 2 minutes

(C) 24 minutes

(D) More than one of the above

(E) None of the above

65. The of all
natural numbers,

11, is

sum three-digit

(A) 44540
(B) 44550
(C) 54540
(D) More than one of the above
(E)

None of the above

17/MV/M-2023-09 MAT (S)/11-A

multiple of

66. For what value of &k, the

equations

3k-1x+4y =24

15x+20y = 8(k+13)
have infinitely many solutions?
(A) 2
(B) -2
(€) 3
(D) More than one of the above
(E) None of the above
67. The value of p such that the

points A(4, 7), B(p, 3), C(7, 3) are
the vertices of a right-angled
triangle, having right angle at B,
is

A4,7)

B (p, 3) C(7,3)
(A) 3
B) 5
C) 4
(D) More than one of the above
(E) None of the above

24 || IR0 R



64. TH T ©d hl &9%d 24200 &

65.

M 21 66 Toho o /5T HI & T UH
afget 39 @ I faw@r fhad ava § 9r
LAY

(A) 3 e

(B) 2 fire

(C) 2-4 fire

(D) 39w H ¥ TH ¥ M

(E) 37 & ¥ 18 T

ot -7 UTeha weme, S 11 %

TUTe &, T AN B

(A) 44540

(B) 44550

(C) 54540

(D) 39w | ¥ TH ¥ M

(E) 37 & ¥ 18 e
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66. ko frg 7 & fou g

67.

3k-1x+4y =24
15x+20y =8(k+13)

3 g TEd &7

(a) 2

(B) -2

(€ 3

(D) 3w W | TH § Afh
(E) 39t § & 1g T

p A, S 30 IR 2 R fog

A4, 7), B(p, 3), C(7, 3)
ush wushl Bige % i 2, fwer B W
U 2, B

A4, 7)

B (p, 3)
(A) 3

C(7,3)

B) 5

(C) 4

(D) 3w W | TH § Afh
(E) 3udth # @ #1g T
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68. A 5 cm cube is cut into as many

69.

1 cm cubes as possible. The
ratio of the surface area of the
larger cube to that of the sum of
the surface areas of the smaller
cubes is

(A) 1:6
B) 1:5
(C) 1:25

(D) More than one of the above

(E) None of the above

In a AABC, AD is the bisector of
ZA. If AB=6-4 cm, AC=8 cm
and BD =5-6 cm, then the value
of DC is

A

(A) 7 cm
B) 9 cm
(C) 12 cm

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

70. The sum of LCM and HCF of two

numbers is 1260. If their LCM is
900 more than their HCF, then
the product of the two numbers
is

(A) 203400
(B) 194400
(C) 198400

(D) More than one of the above

(E) None of the above

71. If the bisector of an angle of
a triangle bisects the opposite
side, then the triangle is
(A) equilateral
(B) right-angled
(C) isosceles
(D) More than one of the above
(E) None of the above

72. The angles of elevation of the top
of a tower from two points at
distances of 4 m and 9 m from
the base of the tower and in the
same straight line with it are
complementary. Then the height
of the tower is
(A) 6 m
(B) 10 m
(C) 9m
(D) More than one of the above
(E) None of the above
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68. THF 5 WoHlo Yl A =F I,

69.

1 "o o YT ATel PG TEAT o o1 H
1T ST 3| 98 O o JEIT &A% a9
B Tk gEE SFmel kAR
EERIn

A) 1:6
B) 1:5
(C) 1:25
(D) 39w | ¥ TH ¥ M=

(E) 3T | ¥ *1E

T% AABC U, /A &1 @ufgaeis AD
2l MM AB=6-4 ®otwo, AC=
8 Ho tflo 3fX BD =5-6 Wo o 7,
@ DC &1 0H ©

A

B C

(A) 7 To Ho

(B) 9 %o Ho

(C) 12 "o o

(D) 39w W | TH § AfUh

(E) 3 & ¥ 18 e
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70. 3 AR o TYAH HTIE qol HEad

71.

72.

guUEdss w1 AN 1260 Bl AR
IR TIAH TS, HEdH HHTIEd
¥ 900 At g, da 37 al F&ARA
TS B

(A) 203400

(B) 194400

(C) 198400

(D) 39w W | TH § Al

(E) 37 & & 18 T

e fordt Brgs & w @ m W
Tmfgursi, faufia genm = gufzafsa
FaT g, d Brye

(A) HwaTg

(B) THHIT

(C) wmfgaTg

(D) 39w H ¥ UH ¥ 37
(E) 3w & 9 18 7

T HAR o I o HHR 6 SR ¥ S
el TS W@ W HAR U8 ¥ 4 Ho Td
9 tfo it g W o Rt &1 forgati &
IATH DI TH-GI F Th ¢ | HAR A
SIS @

(A) 6 Ho

(B) 10 #io

(C) 9 o

(D) 39w U | TH § Al

(E) 37 & & 18 e
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73.

74.

75.

The area of a rhombus is
480 cm? and the length of one
of its diagonals is 20 cm. The
length of each side of the
rhombus is

(A) 24 cm
(B) 30 cm
(C) 26 cm

(D) More than one of the above

(E) None of the above

The factors of 2a’ —128a are
A) ala+2)3@-2)3
(B) 2a(a+2)(a-2)(a>+2a-4)

(a2 -2a-4)
(C) 2ala+2)(a-2)(@®+2a+4)

(a2 -2a+4)
(D) More than one of the above

(E) None of the above

Which of the following pairs of
lines in a circle cannot be
parallel?

(A) Two chords

(B) A chord and a tangent
(C) Two diameters

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

76. A bag contains S red balls

and some blue balls. If the
probability of drawing a blue
ball from the bag is four times
that of a red ball, then the
number of blue balls in the
bag is

(A) 10
(B) 40
(C) 20

(D) More than one of the above

(E) None of the above

77. If sinA+sin? A= 1, then
cos? A+cos*A="7?
(A) 2
(B) 1
€ -1
(D) More than one of the above
(E) None of the above

78. The probability of an event can
be
(A) -0-04
(B) 1-00009

18
(©) 3
(D) More than one of the above
(E) None of the above
28 [l IR0 R



73.

74.

75.

TF THEgdS w1 &F%d 480 @
Ho Mo 7 3TN 3Eh e foepvi i ovalrs
20 Fo o 2| THEGS I TF ST
EIRGL=IE

(A) 24 "o o

(B) 30 Wo Ho

(C) 26 o o

(D) 39Y® | ¥ TH ¥ M
(E) 3w & & 18 7

2a’ —128a % PHE € §
A) ala+2)3@-2)°
(B) 2a(a+2)(a-2)(a>+2a-4)

(@® -2a-4)
(C) 2ala+2)(a-2)(a®+2a+4)

(@® -2a+4)
(D) 30w W | TH § Afh
(E) 3w & © 18 T

% g9 4§, FEfafaa @ @ #F-w
[@T-JW R TE 8l ekl 7

(A) = St

(B) U Sfian 3R Ush -3t
(C) < =™

(D) 39w H ¥ UH ¥ M
(E) 3udth # & 1S T
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76. TF IA B 5 A T FH Al Te T

77.

78.

afe ws Fichl e Fepem Fi e,
AT g fehre i wiReRdr i =R T
2, a9 91 # forg Hieh el i v B

(A) 10

(B) 40

(C) 20

(D) 39w | ¥ UH ¥ M
(E) 3w & & 18 7t

afg sinA+sin?A=1, qar

cos? A+costA=7?

(a) 2

B) 1

©) -1

(D) 3w U | UH A Afw
(E) 3udth # & 1S T

Toreht w1 1 TRkt 81 GeRdt B
(A) —-0-04
(B) 1-00009

18
(€) 3
(D) 39w | ¥ UH ¥ M+

(E) 37 & & 18 e
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79.

80.

81.

The angle of depression of a car,
parked on the road, from the top
of a 150 m high tower is 30°.
The distance of the car from the
tower is

(A) 5043 m
(B) 1503 m
(C) 75 m

(D) More than one of the above
(E) None of the above

A hemispherical bowl of internal
diameter 36 cm is full of liquid.
The liquid is to be filled into
cylindrical shaped bottles each
of radius 3 cm and height 9 cm.
The number of bottles is

(A) 96

(B) 48

(C) 24

(D) More than one of the above

(E) None of the above

A kite is flying at a height of
30 m from the ground. The
length of the string from the kite
to the ground is 60 m. Assuming
that there is no slack in the
string, the angle of elevation of
the kite at the ground is

(A) 45°
(B) 60°
(C) 30°
(D) More than one of the above

(E) None of the above
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82. A carton consists of 100 shirts of

which 88 are good, 8 have minor
defects and 4 have major
defects. Jimmy, a trader, will
only accept the shirts which are
good, but Sujata, another
trader, will only reject the shirts
which have major defects.
One shirt is drawn at random
from the carton. The proba-
bilities that it is not acceptable
to Jimmy and acceptable to
Sujata are

(A) 0-12, 096
(B) 0-88, 0-96
(C) 0-12, 0-04

(D) More than one of the above

(E) None of the above

83. Find the area of the triangle
whose sides are 42 cm, 34 cm
and 20 cm.

(A) 330 cm?
(B) 360 cm?
(C) 336 cm?
(D) More than one of the above
(E) None of the above
30 [ R0 AT



79.

80.

81.

150 o 3t U HHR & W ¥ Heh
T G Teh HE HT AT B0 30° 2|
HR & A R

(A) 5043 o

(B) 150+/3 Hio

(C) 75 Hio

(D) 39w | ¥ TH ¥ M
(E) 3w & @ 18 7

T AAMATRR werr, et =i
=] 36 Ho Hio 7, 59 ¥ U W 2| 36
@ @ 3 ¥o ™Mo = wa 9 Wo o
IR ATell SEHER Adat § W ST
3| Sdelt it g B

(A) 96

(B) 48

) 24

(D) 30w W | TH § Afh

(E) 3w & @ 18 T

T 9T SHHE & 30 Hio i FeE W 3
B wqn 4 S d% Sl i awg
60 Hio 2| Ig WA FT fF SR § wE
AT T B, T W udT w1 oIaE
T 7

(A) 45°

(B) 60°

(C) 30°

(D) 39w | ¥ UH ¥ M
(E) Sudth # & #1$ T
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82. TH &id@ ¥ 100 I 2, o 88 3r=ai

83.

2, 8 W A 29 & @1 4 | = A9 B
et weh el & S A =3t e
@R Al § U el Uk 3T
ZEEE B S had 3 IE I AETHR
Fdt @ T aer 9w ?1 T W A
Iig=sal diF o b smar g1 et
3R 36 R A A Td gorar g1 g
TR A =l TTehaTd &

(A) 0-12, 096

(B) 0-88, 0-96

(C) 0-12, 0-04

(D) 39w | ¥ UH ¥ M+

(E) 3udeh # & 1S T

39 Brye =1 aawa I Hif, e

o 42 "o o, 34 Ho Ho 3R
20 Ho Hio §|

(A) 330 & "o Hro
(B) 360 @ Ho Hio
(C) 336 =t Ho Ho
(D) 39w | ¥ TH ¥ M

(E) 37 | ¥ 18 e
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84. The denominator of a fraction

85.

is two more than its numerator.
If the sum of the fraction and

. . . 4
its reciprocal is QE’ then the

fraction is

5
(A) 3
3
B
5
© -

(D) More than one of the above

(E) None of the above

The cost of carpeting a room
15 m long with a carpet 75 cm
wide at T70 per metre is
¥ 8,400. The width of the room is

(A) 9 m
B) 8 m
(C) 6 m

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

86. If seven times the seventh term
of an AP is equal to eleven times
its eleventh term, then its
eighteenth term is equal to
(A) -17
B) -1
(C) O
(D) More than one of the above
(E) None of the above

87. A wire is looped in the form of
a circle of radius 28 cm. It is
rebent into a square form.
Determine the length of the side
of the square.

(A) 44 cm
(B) 54 cm
(C) 40 cm
(D) More than one of the above
(E) None of the above
88. Given
X = ! , (x#2)
1
2- J ll
()
2-x
then x is equal to
A 1,1
(B) _]-7 1
(C) _1> -1
(D) More than one of the above
(E) None of the above
32 [ RO



84. Uw firdl w1 & 3k 31 U <1 iU 2|

85.

a%ﬁmawaaagmmﬁnzé%,

9 firg 2

S
(A) 3

3
B -

5
© -

(D) 39w | ¥ TH ¥ M

(E) 3w & & 18 7

15 o &, TH H | 75 To Hio
e FeAA fowH w1 == T70 ufd

M & feae @ €8,400 B ®R H
ISR

(A) 9 o
(B) 8 Hio
(C) 6 Hio
(D) 30w W | TH § Afh

(E) 37 & & 18 e
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86. f foreft Tm= #vft (AP) % wrdd Ug

87.

1 EA AT 30k WNGS 98 ok WG A
% S 8, q IUH ISEA] Ue ®

A) -17

(B) -1

(C) O

(D) 39w | ¥ UH ¥ M
(E) 3w & & 18 Tt

Th dR & 28 o Ho T ad ww
gd o €9 H U T 7| T TH FHR
w9 1 R ¥ HieT Srar ¢ | & o6l oS i
TS 1 I |

(A) 44 Ho Ho
(B) 54 Wo Ho
(C) 40 %o Mo
(D) 39w W | TH § Afh
(E) 3T | ¥ 18 e
88. famg
x = L , (x#2)
S
- 2—-x
2]
el x S 8
A) 1, 1
(B) -1, 1
©) -1, -1
(D) 3w W | TH A Afh
(E) 37 & & 18 e
33 (IR | eor.o.



89. The area of a sector of angle 6° of 92. Consider the system of linear

a circle with radius R is equations x-y+1=0 and

(A) 2n RO 3x+2y—-12=0. The coordinates
180 of the vertices of the triangle

(B) 21RO formed by these lines and the
360 y-axis are

(C) TR =)
360 (A) (27 - ]-)7 (O> 5) and (07 - 5)

(D) More than one of the above

(E) None of the above B) 2 -1), (5 0) and (-5, 0)

90. The ratio of incomes of two (C) @ 3), 0, 1) and (0, 6)

persons is 9 :7 and the ratio
of their expenditures is 4 : 3. If
each of them manages to save
72,000 per month, then their
monthly incomes are (E) None of the above

(A) ¥18,000 and ¥ 14,000
(B) £27,000 and ¥21,000

(C) 36,000 and ¥ 28,000 93. A cubical ice-cream bar of

(D) More than one of the above edge 22 cm is to be distributed
(E) None of the above among some children by filling
ice-cream cones of radius 2 cm
and height 7 cm up to its brim.
How many children will get the
ice-cream cones?

(D) More than one of the above

91. A factory manufactures 120000
pencils daily. The pencils are
cylindrical in shape, each of
length 25 cm, and circum-
ference of base is 1'5 cm. Then

the cost of colouring the curved (4) 163

surfaces of the pencils

manufactured in one day at (B) 263

¥ 0-05 per dm? is

(A) ¥22,500 (C) 363

(B) ¥2,25,000

(C) ¥2,250 (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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89. =M R a1 U 3u & 0° IV aATel

90.

91.

soE € &1 &9%d 8
(A) 27mR6
180

21RO
360

(B)

(©) nR20
360

(D) 3w W | TH § Afh
(E) 3T | ¥ 18

31 TRl i A H AgAE 9 : 7 R
TAT 39k W@ H IGUE 4 : 3 Bl AR
TE T A% H Hq1fEe s @ 2,000
2, a1 3T IR 3T B

(A) ¥ 18,000 3r ¥ 14,000
(B) €27,000 3t ¥21,000
(C) ¥36,000 3R 28,000
(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

T el Ufafer 120000 R saTdt
2| Ufue 1 MRR TR 21 Ud®
HI TFE 25 Fo Hio AT YN
9iefer 1-5 Wo o B| d9 T oA § aATE
TE URett % JEYSl W T HEH H @E
& 0-05 ufd =t 2t Hio i <t & B
(A) ¥22,500

(B) ¥2,25,000

(C) ¥2,250

(D) 39w | ¥ TH ¥ M

(E) 37 | & 18 e
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92. fgw wffewn & ™ x-y+1=0

93.

qa 3x+2y —-12 =0 W fo=r Hifvw|
T @IS AU y-3& T A AT A
o 3fit o faemes 2

A) 2 -1, (0, 5 aam (0, — )

B) 2, -1, (5 0) aAt (-5, 0)

(C) (2, 3), (0, 1) @ (0, 6)

(D) 39y H ¥ TH ¥ 1M

(E) 37d & & 18 e

22 Fo Mo fHMR I TH TATHR
AMEEHT IR H 2 Ho Hio Frewm IR
7 Fo Hio FaTE AT AU HIHT i
IR T T FO a=i § faafa fee

ST 21 fhad s=1 Bl e e
o ?

(A) 163
(B) 263
(C) 363
(D) 3 U | TH A Al

(E) 37 & & 18 e
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94.

95.

96.

17/MV/M-2023-09 MAT (S)/11-A

If O is any point inside a

rectangle ABCD, then

(A) OB2+0D? =0A%+0C?

(B) 0B2+0A%=0D?%+0C?

(C) 0A%2+0D? =0B?+0C?

(D) More than one of the above

(E) None of the above

If the point C(L, 1) divides the
line segment joining A (-2, 7) and

B in the ratio 3 :2 internally,
the coordinates of B are

98.

(A) (=3,3)

(B) G -3

€ B3

(D) More than one of the above

(E) None of the above

A manufacturer of TV sets
produced 600 sets in the third
year and 700 sets in the seventh
year. Assuming that the produc-
tion increases uniformly by a
fixed number every year, the
production of TV sets in the
10th year is

(A) 850

(B) 1000

(C) 775

(D) More than one of the above
(E) None of the above

97.

99,

Rajveer saves €32 during the
first month, ¥36 during the
second month and ¥40 during
the third month. If she
continues to save in this
manner, she will be able to save
72,000 in

(A) 20 months

(B) 30 months

(C) 35 months

(D) More than one of the above
(E) None of the above

In an examination, one student
secured 30% marks and failed
by 45 marks. Another student
secured 42% marks and got
45 marks more than minimum
passing marks. Find the total
marks.

(A) 270

(B) 750

(C) 850

(D) More than one of the above
(E) None of the above

The mean of 20 numbers is zero.
Of them, at the most, how many
may be greater than zero?

(A) 19

(B) 1
(C) 10
(D) More than one of the above

(E) None of the above
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94. Ift ™M@ ABCD % 3 O &5 o5

95.

96.

g, @@

(A) oB?+0D? =0A%+0C?
(B) OB2+0A2% =0D?+0C?
(C) 0A?+0D? =0B?+0C?
(D) 39y H ¥ TH ¥ M

(E) Sudth # & *1$ T

af fog C(1, 1), A(-2,7) @ B @I
e atet Wem@ T W oraie ' oA
3:2 % Jgud 4 fawrfsa o 7, 9«
B % iz 2

(A) (=33

B) B -3

€ B3

(D) 39w H ¥ UH ¥ M+

(E) 3w & 9 18 T

T o o T sHM el I I8 600
¥ U ad a9 700 @ fAmior
FAAT 2| T8 WHd g¢ TR i e
] U UdF 99 Uk fOR @& 9@ Sedl
2, 10d o8 # ffifa do o @2 N
T 7

(A) 850

(B) 1000

(C) 775

(D) 39y | ¥ TH ¥ M

(E) 37 | ¥ 18 e
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97. TSER oW AE § €32, fgdw ue A

98.

99.

$36 du1 g W § 40 Hit g=d
Fdl 71 Ife a8 gHt IR ¥ AR S=d
X, @ foras @mg 4 2,000 i s=d
TR MY

(A) 20 W&

(B) 30 W

(C) 351®

(D) 39w U | TH § Afh
(E) 39tk § & 1$ T

T e § us I 4 30% A% U
fohT @ 9 45 3Rl ¥ AT & T
T BE H 42% 37k T fohu, S 30l
B F foIU TawEs =Han R @ 45
3o 3T g | qUTieh F1d i |

(A) 270

(B) 750

(C) 850

(D) 39w | ¥ UH ¥ 3=
(E) 3udth # & 1S T

20 HEsl wm WA Y Tl W 4,
AfereR-8 -1k, fohad v @ afos @
Tehd 87

(A) 19

(B) 1

(C) 10

(D) 30w W | TH § Afeh
(E) 3udth # & 1$ T

37 (TN e.r.o.



100. Suhit borrowed ¥6,300 at the 103. The mean and mode of a

rate of 14% for 3 years on simple frequency distribution are 28
interest from Vikas. Suhit added and 16 respectively. The median
some amount in the principal is

amount and gave it to Mohit at (A) 24

the rate of 16% for the same

period with simple interest. (B) 235
During this transaction, Suhit (C) 22
earned ¢618. The amount

) ) i (D) More than one of the above
which Suhit gave to Mohit was

(E) None of the above

(A) ¢7,000
(B) ¥6,800 104. Some money has been borrowed
(C) 7,200 on compound interest. After

2 years and 3 years, the
principal turns out to be ¥9,680
and ¥ 10,648 respectively. Then
the principal is

(D) More than one of the above

(E) None of the above

101. For a symmetrical frequency

distribution, we have (A) ¥8,000

(A) mean < median < mode (B) 9,000

(B) mean > mode > median (C) ¢7,000

(C) mean = median = mode (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above
105. Two different dice are rolled

102. One wall clock was set at together. Find the probability of
8:00 a.m. in the morning. This getting the sum of numbers on
clock runs 10 minutes fast two dice to be 5.
during 24 hours. Next day when A 1
this clock shows 1:00 p.m. in A) 9
the afternoon, the correct time is 1
(A) 40 minutes passed 12 noon B) 4
(B) 45 minutes passed 12 noon ©) 1
(C) 48 minutes passed 12 noon 6
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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100. gfed o fo@ & 99R0 =S W 14%

101.

102.

e @ ¥ 3 a9 & feiw & 6,300 38R
fu| giea qoed § F® R gm
Shrest Hifgd =1 3at &€ sty & foe
16% dTfieh &% T ATERI =TSl W IGR
3 fou)| 36 -3 # gfea =1 $618 H
o g3 gled g AfEd i 3UR a1 g8
Tfar off

(A) ¥7,000

(B) ¥6,800

(C) ¥7,200

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T

v Tl B ¥ o R

T 2

(A) #EA < AR < AT
(B) WA > SgeTh > HIfEAeH
(C) #red = wifedent = agae
(D) 3w W | TH ° Al
(E) 394 # ¥ hig T

Teh o) Tl § Ud: 8:00 &S 3ieh T8
F fem mn oom W owE 24 w2 H
10 e om =rerdt 81 21Tl T oiar 5|
gl § U % 1:00 5§ &, dl HHI
3k wHg B

(A) TU=R 12 S5 40 fire
(B) TUeR 12 st 45 fime
(C) T 12 st 48 fire
(D) 39w | ¥ TH ¥ M
(E) Sudth # & #1$ T
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103.

104.

105.

TF AN e o WA HR dgak
A 28 3 16 & | HIfEem &

(A) 24

(B) 235

(C) 22

(D) 39w | ¥ UH ¥ M+
(E) 3w & & 18 7t

Thgfg e W fou MU aA % 2 9 qun
3 o8 % faued wus: €9,680 du

¥ 10,648 & A 2| goAeH 2
(A) ¥38,000

(B) €9,000

(C) &7,000

(D) 39w | ¥ UH ¥ M+
(E) Swft 4 ¥ i3 T

T AAT-AAT T hl THETT ISTAT
AT B SH 9TEl WA arelt Jenet
1A 5 B hl TilRekdr i i)

(A)

O |~

(B)

N

(€)

oV |+~

(D) 3w W | TH § Afh
(E) 37 & ¥ 18 e
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106.

107.

108.

When (x31 +31) is divided by

(x+1), the remainder is

(A) 0
B) 1
(C) 30

(D) More than one of the above
(E) None of the above

One ticket is drawn at random
from a bag containing tickets
numbered 1 to 40. The
probability that the selected
ticket has a number, which is a
multiple of 7, is

1
(A) =
1
(B) 3
7
© 20

(D) More than one of the above

(E) None of the above

A person bought a horse and
a car for ¥20,000. He sold the
horse with 20% profit and sold
the car with 10% loss. In this
transaction, he earned 2%
profit. Then the purchase cost of
the horse is

(A) ¥7,200
(B) ¥7,500
(C) 8,000

(D) More than one of the above
(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

109.

110.

111.

In a lottery, there are 6 prizes
and 24 blanks. What is the
probability of not getting a
prize?

3
(A) 1
3
(B) <
4
(C) =

(D) More than one of the above
(E) None of the above

The quadratic equation

ax?+bx+c=0 (a#0)

has two distinct real roots if

(A) the discriminant >0
(B) the discriminant =0
(C) the discriminant <0
(D) More than one of the above

(E) None of the above

a and b are two positive integers
such that the least prime factor
of a is 2 and the least prime
factor of b is 5. Then the least
prime factor of a+b is

(A) 3
B) 5
(C) 8

(D) More than one of the above

(E) None of the above
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106. (x31+31) & (x+1) & fawisa = w

107.

108.

IYHSA ITH FT B

(A) 0

(B) 1

(C) 30

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S T

1 @ 40 a% I & a1t ikl @ R
UE N W AGIE ®T W UF fohe
Frepren strar 21 =i feshe it w7
T Uk B T TR &

(A)

(B)

D= N~

7

40

(D) 39w | ¥ UH ¥ M
(E) 37 & & 18 e

(C)

UF ARE 4 TH ARG T TH FR
20,000 ¥ W 3WT =l 20%
Y W Td R 10% B | S| 39
- H I 2% AT T FIAT| ARG A
ERR el

(A) ¥7,200

(B) 7,500

(C) ¥8,000

(D) 39w H ¥ UH ¥ 1M

(E) 37 & & *18
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109.

110.

111.

T il H, 6 TEHR AR 24 fch-woH
B QR 7 firem it wiftrekar @ 27

(A)

(B)

uld Glw plw

(C)

(D) 39w | ¥ UH ¥ M+
(E) 3T | ¥ 18

feEma wefierton

ax?+bx+c=0 (a#0)

3t fira aredfers gt Taa g, afe
A) faferat > 0

(B) fafepert = 0

(C) fafempam <0

(D) 39w | ¥ TH ¥ i
(E) 3udth # & 1S T

a 3 b A wAEES i, q4 F
a 1 HEE Bl AT PHE T 2
3R b H I Bl AW oG T
5 2 a+b ® WEH Bl AT

TG € ®

(A) 3

B) 5

(C) 8

(D) 39w W | TH § AfUh
(E) 39t § & #1g T
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112. The line segment XY is parallel

113.

to the side AC of AABC and it
divides the triangle into two
parts of equal areas. Then the

. AX .
ratio — 1s
AB

(A) 2+\/§
2

B) 232
2

(C) 3+\/§
2

(D) More than one of the above

(E) None of the above

Which term of the AP

72, 63, 54, -
is 0?

(A) 8th

(B) 9th

(C) 10th

(D) More than one of the above

(E) None of the above

17/MV/M-2023-09 MAT (S)/11-A

114. Consider a polynomial

115.

116.

x*+x3-9x%2-3x+8

Given that two of its zeros are
—+/3 and +/3. Then the remaining
Zeros are

(A) -3, -2
(B) 3, -2
(C) 3, 2

(D) More than one of the above

(E) None of the above

cosb —sin6 1-+/3
cosO+sin® 1+4/3
0°< 0 <90° then the angle 0 is

If and

(A) 30°
(B) 60°
(C) 45°

(D) More than one of the above

(E) None of the above

If tan20=1+ 2tan20c,
sin? 0 is equal to

then

(A) ;(1+ sin? o)
(B) 1+ sin? o
© ;(1+ cos2 o)

(D) More than one of the above

(E) None of the above

42 {0 RO newrm



112. I W 8 XY, AABC il 1 AC % 114, 5§58 x*+x3-9x?2-3x+8 W

U B q91 T DS s quE SEha fomm AT s & EE -3 T
et q w # fawsa wwar 2, 9@ V3 feu mu ¥ = v ©
AX
g R (A) -3, -2
B) 3, -2
2
) 2+2f © 3,2
(D) 39Yh H § TH ¥ A
(B) 2—2\5 (E) 393t # & g T
- 3443 115. R cosO—sinO_l—x@ a1

cosf+sin® 1+\@

2

0°< 0 <90° 7, T« IV 6 T
(D) 39w H ¥ UH ¥ M+ A) 30°

(B) 60°
(E) 3T § ¥ HIg T2 © 45

(D) 3w W | TH § Afh

113. @m0t 72, 63, 54, - F FH-AT (E) ST & & #1g 2
ug 0 27
116. ¥ tan?6 =1+2tan?o, a sin’ 0
(A) &af % R ¢
1

A) =(1+sin?
B) oat (A) 2(1+s1n o)

(B) 1+sin?a
(C) 10af

(©) ;(H cos? a)

(D) 39w | ¥ TH ¥ M
(D) 39w | ¥ UH ¥ M+

(E) 3w ® & 15 T (E) 393t & & g T
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117. Taxi charges in a city consist of

118.

fixed charges and the remaining
depending upon the distance
travelled in kilometres. If a
person travels 60 km, he pays
¥960 and for travelling 80 km,
he pays ¥ 1,260. Find the fixed
charges and the rate per
kilometre.

(A) ¥60 and ¥15/km
(B) ¥40 and ¥25/km
(C) ¥30 and ¥15/km
(D) More than one of the above

(E) None of the above

A vertical tower stands on a
horizontal plane and is
surmounted by a vertical
flagstaff of height h. At a point
on the plane, the angles of
elevation of the bottom and top
of the flagstaff are a and f
respectively. Then the height of
the tower is

A) . tana
(tanP —tana)
(B) . tanao
(tanp+tana)
© htano

tanf —tana

(D) More than one of the above

(E) None of the above
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119.

120.

A girl of height 90 cm is walking
away from the base of a lamp-
post at a speed of 12 m/sec.
If the lamp is 3:6 m above the
ground, then the length of
the shadow of the girl after
4 seconds is

(A) 16 m
(B) 15 m
(C) 106 m

(D) More than one of the above

(E) None of the above

sin® —cos0+1 .

- is equal to
sin®+cos6 -1

1
b)) ——
secOb —tan6
1
B ——
cosecH —cot 6
1
€ —
cot® —tanb

(D) More than one of the above

(E) None of the above
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117. foret o # 2ot o # fifvea oo
I BT 8 IR o fhatidiex § aa 6t
T @ W R w21 A e =tE
60 foho o 1 IEM war B, @ W
960 N YW HET USdl g IHR
80 fho o & I & Tw =@
$1,260 & gaE war @l ffved
yoah 3R X ufd foretriex ma hifsr |

(A) T60 3 T 15/fF0 o
(B) T40 3 T25/f%F0 o
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Note : English version of the instructions is printed on the First Page of this Booklet.
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